3 | 2 | 1
ID
C
B
Designed by Checked by Approved by Sheet size Date E—@
ITFECOM A3 7/24/2017 A
YuMi Rubik
"l‘ == == Revision Sheet
D1000 1/3

We reserve all rights in this document and in the information contained therein. Reproduction, use or disclosure to third parties without express authority is strictly forbidden. ABB

3

2

1



3 | 2 | 1
ID
C
oL
a
ABB - <
3
a
L ] L]
U B
680
1080
Designed by Checked by Approved by Sheet size Date E—@
ITFECOM A3 7/24/2017 A
YuMi Rubik
"“ == == Revision Sheet
D1000 2/3

We reserve all rights in this document and in the information contained therein. Reproduction, use or disclosure to third parties without express authority is strictly forbidden. ABB

3

2 |

1



6 | 5 | 4 3 | 2 | 1
ELENCO PARTI
ELEMENTO QTA NUMERO PARTE DESCRIZIONE
63 2 Smart Gripper ABB Smartgripper
101 1 IRB14000 ABB YuMi
e @ @ @ @ @ @ @ @ 109 1 Supporto_Flexpendant TPU Unit Support
110 1 FlexPendant TPU Unit P
116 1 COGNEX IS 7200 C-Mount assy
117 1 Rubik cube Rubik 57mm x 57mm
5 1 D1001 Fixing plate YuMi
@ 12 2 D1003 Cover DX
9 2 D1007 Wheel plate DX
48 2 D1008 wheel plate SX
@ 104 1 D1011 Side panel SX -
105 1 D1013 Side panelDX
106 1 D1012 Front panel
112 1 D0110 Camera support
@ 112-1 2 D1105 Camera support _ Part 1
112-2 2 D1106 Camera support _ part 2
112-3 1 D1104 Camera support
@ 118 1 D1202 Cube fixture C
8 2 Alu_Profile 80mm 90x45 L=80mm
1 2 Alu_Profile 765mm 90x45 L=765mm
/ 10 2 Elesa_RE.G1-080-PBL-N Thermoplastic rubber wheels with steel sheet
. bracket
11 2 Elesa_RE.G1-080-SBF-N Thermoplastic rubber wheels with steel sheet
A bracket
/ 15 2 Alutec_profilo 45x45_510mm 45x45 L=510mm a
16 5 Alu_Profile 500mm 45x45 L=500mm
34 2 Alu_Profile 780mm 90x45 L=780mm
36 2 Alu_Profile 90x45_510mm 90x45 L=510mm
@ 46 1 Elesa_GN 333.3-28-592 Tubular handles with variable hole centre
distance
53 24 Fixing bracket
99-1 2 Alutec_profilo 45x45_350 Profilato 45x45 L=350mm
@ 99-2 1 D1009 Working table B
107 2 LOGO ABB logo ABB (100 x 200)
108 1 531029 MSB4-1/4:C4:J5:F1-WP |-
e 38 1 ISO 7089 - 6 - 140 HV Plain washers - Normal series - Product grade A
42 8 ISO 10642 - M8 x 20 Hexagon Socket Countersunk Head Screw
92 4 ISO 7380 - M4 x 12
33 16 ISO 7089 - 8 - 140 HV Plain washers - Normal series - Product grade A
- @ @ 14 6 ISO 4762 - M8 x 30 Hexagon Socket Head Cap Screw —
29 20 ISO 7380 - M8 x 10 Hexagon Socket Button Head Screw - Product
grade A
@ @ @ e @ @ @ @ o Designed by Checked by Approved by Sheet size Date
ITFECOM A3 7/24/2017 E_@ A
YuMi Rubik
"“ Is == Revision Sheet
D1000 3/3
We reserve all rights in this document and in the information contained therein. Reproduction, use or disclosure to third parties without express authority is strictly forbidden. ABB

3

2

| 1



